> A
A & 0l & AF 2 E A A
20158 & =0l & LEHSI A AlRI 23
M AB2EAH
M HMAS LS
CHel: Al nSHER2Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A QI 2 3HHE 2,073,181 2,301,821 A 228,640
HMALe W =25t 1,977,833 2,231,504 A 253,671
M nsHE2Y 708,300 747,190 /38,890
TP NS 521,300 537,320 216,020
201 Let24dy] 495,000 507,900 212,900
01 At 2teltl 490,000 507,900 A 17,900
O1 gt=2Hl 15,700
>80 M 50,0003 «70H x23] 700
D22 SAD EH, &8
5,000,000 » 14! 5,000
DAIRIEZSEEH s S22 ME
10,000, 000& 14! 10,000
O3 2d=¢ 474,300
DAMEE HARIFE HA=E
100,000& 2021 *33] 600
D=2kt A=
110,000& 611 = +353] 27| 469,700
D OtItOI Ol JHZ A 2AL=E
2,000,000& »23l 4,000
02 =224l 5,000 0 5,000
O3 AIE ZHI =Xt 5,000
>2AoA HIE KAz 5,000,000& =14 5,000
202 o4l 1,500 1,200 300
01 = LH 4 Hi 1,500 1,200 300
OF2t ISHM PHED U 29
300,000& »5& 1,500
206 M= Hl 8,520 4,720 3,800
01 =8l 8,520 4,720 3,800
OF2e s Ma(xesx 5)
130,000& 601t = 7,800
OlIZZMA 707 A0S 60,000 128 720
405 XHoHF S HI 16,280 23,500 NT,220
01 AL EZFH S 16,280 23,500 NT,220
OZxeld &7 A5 800,000 *1CH 800
OZHU(AtEITH) 2,000,000 = 1CH 2,000
O2AU(ZAH) 2,000,000& = 1CH 2,000
OLE=(¥9Y8) 1,500,000& = 1CH 1,500
OSA(+=2ZHE) 7,000,000 » 14! 7,000
O0ls4A S0IEBE(ZX2E) 220,000 =44 880
ONFA FOIEBES(XE) 700, 000& *3H 2,100
OF2ter = 116,360 129,360 A 13,000




SM: ARI2EM
HE: WA D

st
CHel: Al nSHER2Y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 114,800 127,800 A 13,000
01 At 22l 114,800 127,800 A 13,000
O1 det=2Hl 400
D=9 M 50,0003 *401 23] 400
O3 2g8=¢ 114,400
D> OF2tEt ZAt=H
110,000& 2010t = *263| x27| 114,400
202 (44l 1,560 1,560 0
01 = LH 4 1l 1,560 1,560 0
OOF2HEH 22 M DASY L 29
260,000 6& 1,560
ML AtSlel Al 11,550 11,550 0
201 L2l 11,250 11,250 0
01 At 22l 11,250 11,250 0
O1 get=ZHl 250
>0 H& 50, 000& =50H 250
O3 2d=¢ 11,000
D>MUWII At2l QI mal ZAt=E
110,000 102t = +103] 11,000
202 04l 300 300 0
01 = LH o4 1l 300 300 0
OMUWII Atglolna 28 & 24
300,000& 12 300
A st 59,090 57,660 1,430
201 L2l 52,610 50,720 1,890
01 At 22l 52,610 50,720 1,890
O1 eet=ZHl 250
D=9 & 50, 000& =50H 250
O3 2d=¢ 52,360
DAHOE ZAt=E  110,000& #1420t = +343] 52,360
202 o4dl 600 600 0
01 = LH o4 1l 600 600 0
OMHIIS +2M PHES U 29
300,000& »2& 600
206 M= Hl 2,880 1,440 1,440
01 M= 4l 2,880 1,440 1,440
O&HHHE =M AL W2 240,000 1210t = 2,880
301 et a = 3,000 4,900 A 1,900
09 &AL HI B A S 3,000 4,900 A 1,900
OAHUSI=HM #HAF 5 &ILA 24
3,000,000 » 14! 3,000




M AB2EAH
HE: BUAS DS
el REBMAIG L LYHES| OHE (CHe &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ASZEAME 2 2HS W 2,480 2,480 0
SAIS EHS, AAS B 2,480 2,480 0
202 O4dl 400 400 0
01 = LH 4 Hi 400 400 0
OXEXASG, £€HS S RFTGHYI
200,000& »2& 400
206 M= Hl 2,080 2,080 0
01 M= 4l 2,080 2,080 0
=L AFZHAS - HHS S M=H
65,0003 161 = +23] 2,080
NEALEE & Hl 1,267,053 1,481,834 A214,781
FAAIE R X 22 1,267,053 1,481,834 A214,781
101 @124l 57,627 52,129 5,498
04 JI2ZtHZ22HEE = 57,627 52,129 5,498
OAUZLE2sHH FA(ZYE =XE)H B 52,171
>olE=s 48, 100 201 251 24,147
>PEESY 48,1008 x201 *52 5,003
> AX =S 48,100 =221 x10 962
> &Mz AH| 130,000& #2021 x12& 3,120
>wsS 2 EH| 120,000 »201 12 2,880
> a0z 24,147,000 *4/12 8,049
DEIXNSH == 44,161,000& *1/12& 3,681
NI
48,100 /8%1.5%20Al 2+ %201 x12& 4,329
O=32¢3 44 ,161,000& *4.5% 1,988
OHLEE= 44,161,000& *2.995% 1,323
OINLYEH 1,323,000 *6.55% 87
(OE= 30 = =4 44,161,000& *1.50% 663
OtTHEE Z 44,161,000 *1.8% 795
Ou=sdl(ots, %) 150,000& 23| 20! 600
201 Let249] 940,311 908, 369 31,942
01 At 22l 109,193 100,793 8,400
O1 gt==2Hl 60,203
DARESE E 2E2E P2¥ 150,000& 128 1,800
>ENA 7 2Y L Ay
10,000& =5 122 600
DM BEHM 85 (1002 )
2,500&+x110&~123 3,419
Dt FA8F 7Y
18,0003 4001 A %123 8,640
D& AFHAWHES 7
7,000 «4000 2~ + 122 3,360




SN A2
M HMAS WSS
S DSALHS 2 B (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DABIIZE MEH £ 10,000 3104122 3,720
DEEX L HMCES TY(ALSHME T
St&t o) 70,0003 x208F A %12 16,800
DENTY(AS, HI|, 48, 84)
67,0002 122 804
FAU2RMAAE MBHEA ALEZ
510,000& =14 510
DEIART T EX 350,000 »2¢F A 700
>XOFBEI MY QA AE 2 A
7,000,000& x13l 7,000
>&2I ZI| ot T A 150, 000& 13| =4 CH 600
DOotA FZIIZ A 450,000& » 14! 450
DOotA D =2oHE A 1,500,000& 14 1,500
DAAMUAID BAME(EL)
100, 000 & »3CH 300
DOUS0IEAME SI1E =&
1,500,000& *13] 1,500
PAYANE SEEY B2
5,000,000& x13l 5,000
DAYAE ASIs &S
3,500,000& x 13l 3,500
O2 AW =HI 590
DAY otM2AIX M2 WS
160,000& 10! 160
>CHESO0ISAE 22BYT} DS
22,500& »20! 45
POFAMEAE SHBRIN DS
50,000& »2¢! 100
DAAHADID AR W= 80,000& =1¢! 80
D2 otz W= 25,000& »1¢! 25
&I otE et WE 90, 000& »2¢! 180
O3 2d=¢ 48,400
> - =AY 50,0003 #2021 «484 48,400
02 =224l 831,118 807,576 23,542
O1 23223 % AMA 372,836
DI (AL E2sHH)
21,000,000& «12& 252,000
> &IIQ3(XI6HA D 6,140,000& x12& 73,680
DSt ELI(HL RS HE)
2,000,000& +x12& 24,000
Daot+E 23 (XI5tADIH) 1,000,000 «128 12,000
>EA ESEME Y3 1,300,000& »23] 2,600
DEAMN NERY RFES
(1,050,000&+17,398m x400& )*0.82 6,568
DOFAALD BHAY EFHE 150,000 14 150
DEA CIHY AIZ2EZ 19,000& 128 228




M AB2EAH
M HMAS WSS
Sel: REALHE L Hyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FAZHAIAE QHY A E =
105,000& 128 1,260
> Agrotd 2| Xt ¢ 3l i 50,000& x1¢! 50
DOEHXIDI=el A5l 100,000& =12l 100
DEI|etM 2e| Xt 3l bl 100, 000 & »20! 200
O2 A=l 219,758
DEAJIA B (HYs)
1,085& «50nm’ *4 Al 2t +3CH 72 46,872
D EAIJEA HE S H 22D (400RT)
1,0853 «80nm’ *6 Al 2k +3CH 72 112,493
DEADJEA HHE H2 0] (400RT)
7163 *110nm* *6 Al 2F*3CH 42 59,543
DHAZEIE BR 1,700& 5004 *13] 850
O3 A& & Hl s Xt 238,524
D&EI, Al 22 15,000, 0002 14 15,000
>sa&d 2el 7,000,000& =14 7,000
DOIH 22X, JMay 22
13,000, 000& * 14 13,000
>&ZI sz 12,000,000& 14 12,000
DEAN EE A2 9,000,000& =14 9,000
DEI2MAAE A2 Y
27,000,000& =14 27,000
ASHAHLH |X2e S
2,000,000& 123 24,000
DEASHEH SN2
1,100,000& 122 13,200
>CCTV &#Hl |Xl&cl 84
1,100,000& 122 13,200
DU IEH S22 2
13,000,000 * 14 13,000
DEA HA(as) EY 912,000& x 123l 10,944
D& et ze] 89 150,000 ~4CH 128 7,200
DEA 22U E EA
530,000& *11& 5,830
D2l s 4
0,000 «3CH 12 3,240
DAESE 22/89(3,300208 H=sFx)
350,000 122 4,200
D ez, HeEaAs Fa Y
10,000, 000& *23l 20,000
DYW2aAE HA 500,000& =23l 1,000
DERAIIM2(ELe], W20 2 30)
3,000,000 =6CH 18,000
DFOU(EIZY) & SX=JIEH 22
10,000,000& *13] 10,000
DAESIE FA 18,000& *350& 6,300
DEAXN EA 600,000 *43| 2,400




M AB2EAH
M HMAS LS
Celr WEAEHE U HH EERED
SN SAGEA) - MRALY - BES 0l &t o il Hl D&
DM HA 4,300& «350= »22 3,010
202 44l 3,600 2,880 720
01 SLHOIYI 3,600 2,880 720
OF M= 2e] 300,000& =128 3,600
206 M= Hl 23,000 22,000 1,000
01 M= 4l 23,000 22,000 1,000
OFSPIPNIN 3,000, 000 1Al 3,000
OS &AM 2,000,000 14! 2,000
OJIH & |MLHl X 5,000, 000 1Al 5,000
OAZEHES & & WH 2,000,000 14! 2,000
Od - Herddl RX2el A
4,000,000 14! 4,000
O3xJ| |XAZel NM(Zet=0t S)
5,000,000 14! 5,000
078 ZELY4 2UEH W2 (=Y, 88 S)
2,000,000 14! 2,000
307 glz2tol & 140,000 290,000 A 150,000
05 RIZtRIE = 140,000 290,000 A 150,000
OFAN B3AEHA 140,000, 000& =14 140,000
401 A& HIZ 201 Y| 88,000 206,456 A 118,456
01 A& HI 88,000 205,700 A117,700
OFA R E=(Z2AH) 88,000
DASAME FXE+ SAH 25,000,000 14! 25,000
DEHIAIE SXEs A 15,000,000 *14] 15,000
DEIIAME X2+ SAH 15,000,000 14! 15,000
DEUNUAE FXNEs SA 10,000,000 * 14! 10,000
DAYAE X245 SAH 15,000,000 14! 15,000
DEIA I8 ZAX wHSAM
2,000,000 14! 2,000
>55 .65 LAY UR THSA
6,000,000 14! 6,000
405 XtatE SHI 14,515 0 14,515
01 At ESFH S 14,515 0 14,515
OLANGIE 24ZE HRJAEX 3,465,000 «1CH 3,465
OLANS E 48ZE HMAZX 6,050,000& «1CH 6,050
OAt2 4 mtelE 2 5,000, 000 14! 5,000
MRS (AMU2sHH) 20,000 0 20,000
E28XE 20,000 0 20,000
=g BHE 20,000 0 20,000
802 gHEt = DI EF 20,000 0 20,000
ICEnIgeel=g=g= 20,000 0 20,000




SA: ADIR5 M E
N RS (AQUSSMEH)
cel: BENE (EERED
- _ _ RE!
S E B (3H) - MBAY - BES Ol &F o4 %@ﬁ HD=2
| | | Ox2g gtatz 40,000 *5009! 20,000
HE2AAH (A2 HE) 75,348 70,317 5,031
ol 29y 37,506 36,767 739
ol 29y 37,506 36,767 739
101 Q124 b 37,506 36,767 739
01 £ 26,790 06,262 528
OANZeaRsy 8,930 * 1021 *300A] 2+ 26,790
02 JIEHE B & 10,716 10,505 211
OANQ2R4a (HADE)
8,930 x421%300Al 2 10,716
Jl= A 37,842 33,550 4,292
Il =2 37,842 33,550 4,292
201 B2 Y] 29,042 25,190 3,852
01 At 2t2l ] 22,886 19,850 3,036
O1 Yetx 2y 13,406
DENSYES2Y 750,000 « 122 9,000
D A2 NAABAHA 222
300 «3,300A 990
DAAR ARIICEY Lo
122,000, 0002 *2. 8% 3,416
05 22l 5,880
I -T= =] 7,0002 %1401 53] » 1224 5,880
06 Yx2 3,600
DEAI LB 50,0002 *6CH 122 3,600
02 2229 6,156 5,340 816
O1 2292 2 HA 1,956
DeHQ 130, 0002 * 12 1,560
DOEYWAMHIA 022 (15 QIRQR)
33,0009 « 122 396
O3 A& EHl SXlHl 4,200
DA AT 29 AlAE QX 22
350,0002 * 122 4,200
202 014 4,040 4,760 AT20
01 240 Yl 4,040 4,760 AT20
071222430l 4,040,0002 *1A! 4,040
203 92 =AY 3,560 3,600 A 40
02 HIPAY R =X Y 560 600 A 40
OFAI Y2 E A Y] 40,0002 * 149! 560
04 SA2IAR =AY 3,000 3,000 0
OBN2A Y2 =Xy 250,000 * 122 3,000
405 XHAHE S H 1,200 0 1,200




2A: ARIZ3HE
M HHE2AAH(AILSEHH)
o2l I3l
) . ~ d L
SAH M -H2A () - MEAY - BES Ofl & oH \&lgﬁ
ol

| 1,200

01 HMHESHSH

O2M AlEJI 1,200,000 * 14! 1,200




